. VCE & PDF https://www.pass4itsure.com/1z0-1087-20.html
g 2024 Latest passditsure 120-1087-20 PDF and VCE dumps Download

PassditSure.com

170-1087-209%A8

Oracle Account Reconciliation 2020 Implementation Essentials

Pass Oracle 1Z0-1087-20 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.pass4itsure.com/1z0-1087-20.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

170-1087-20 VCE Dumps | 120-1087-20 Exam Questions | 120-1087-20 Braindumps 1/3


https://www.pass4itsure.com/1z0-1087-20.html
https://www.pass4itsure.com/1z0-1087-20.html
https://www.pass4itsure.com/1z0-1087-20.html

VCE & PDF https://www.pass4itsure.com/1z0-1087-20.html
a 2024 Latest passditsure 170-1087-20 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

Which statement is always true of data loads from Data Management?
A. You must select either Actual or Budget as the scenario for the data.
B. You cannot load data into reconciliations with a status of Closed.

C. Only users with the administrator role can run data loads.

D. If there is no change in the balance, the reconciliation is not updated.

Correct Answer: A

QUESTION 2

You are a preparer with the User role and you are going on vacation.

How can you assign responsibility for reconciliations currently open with you to the backup preparer?
A. In the Workflow tab of the reconciliations, select a backup preparer in the Backup Preparer field.
B. In User Preferences, change your status to Out of Office.

C. In the Actions menu of the reconciliations, select Request Reassignment.

D. Click the Release button in the reconciliations to release it to the other team members.

Correct Answer: A

Reference: https://docs.oracle.com/en/cloud/saas/account-reconcile-cloud/adarc/
admin_recons_edit_100xd76326fc.html

QUESTION 3

Which statement about journals in transaction matching is FALSE?

A. You create separate journal column mappings for adjustments and transactions.
B. For transactions, you can apply a data source filter to the export.

C. You create separate journal columns for each match type.

D. For adjustments, the variance amount is exported to the Amount column.

Correct Answer: D

QUESTION 4
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Which is NOT a step in the process for reconciliation compliance?
A. prepare reconciliations

B. execute automation like Automatic Recon and Rules

C. load balances

D. confirm suggested matches

Correct Answer: D

Reference: https://docs.oracle.com/en/cloud/saas/account-reconcile-cloud/raarc/
get_start_overview_process_102xfae1510c.html

QUESTION 5

Which two rule types are available in profiles? (Choose two.)
A. Flag As Needs Attention

B. Auto Approve Reconciliation

C. Require Reconciliation Attachment

D. Delete Reconciliation

E. Copy Transactions from Prior Reconciliation

Correct Answer: BE

Reference: https://docs.oracle.com/en/cloud/saas/account-reconcile-cloud/adarc/
admin_recons_edit_100xd76326fc.html
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